1072

1000/0 2do)/d(m_1 + m_2) [1/GeV]
|_\

-
<
D

Ratio to CMS
[N

0.5

000 GeV pp.

m CMS
—¥— Herwig 7.2.1 softTune
—A— Pythia 6.427 370
—4— Pythia 8.308 default

Filtered dijet mass (anti-k_(0.7), 2300<p_<450, y|<2.5)

Jet

ﬂII| IIIIIIII| IIIIIIllI IIIIIIllI IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIllI IIIIIIllI IIIIIIII| IIIIIIII| IIIIIIllI IIllllﬁm

T T T III|||||_@| IIIIIIII| IIIIIII]] IIIIIIﬂ] IIIIIIII| IIIIIII" IIIIIIII| IIIIIIﬂ] IIIIIIﬂ] IIIIIIII| IIIIIIII| IIIIIIﬂ] IIIM]

100 150
(m_ 1+m_2)/2[GeV]

Rivet 3.1.10, = 300k events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


